
SEPARATOR ASSEMBLY
www.shearline.com

Barrel
Barrel Lid
Barrel Clamp
Cyclone Unit
Cyclone Brace
Legs (3)
Diverter Bracket

6” Hose Clamp (7)
6” Hose Coupler (3)
6” Hose (2) long, short
4” Hose (2)
6” Hose Hanger
3/8” Stud
1/4”-20 x 3/4” Bolt (9)
1/4”-20 x 1” Bolt (5)

Parts List

 

1/4”-20 x 3/4” 
Bolts (3)

STEP 2
Attach CLAMP to BARREL

STEP 5
Attach 6” HOSE HANGER

Screws
x2

Attach 3/8” STUD 
with wrench

1/4”-20 x 3/4” 
Bolts (6)

STEP 1
Assemble CYCLONE to LID

1/4”-20 x 1” 
Bolts (2)

1/4”-20 x 1” 
Bolts (3)

STEP 4
Attach DIVERTER BRACKET

STEP 3
Attach 6” HOSES to 6”
COUPLERS with CLAMPS

6” Flex
Hose
(long)

6” Flex Hose
(short)

Cyclone

Shearline 
Original

Blower

Couplers

Cylcone opening
(aligned with Diverter 

Bracket)

Clamp

Barrel

Leg B
(for Hose Hanger)

Leg C
behind barrel

(for Hose Hanger,
optional)

6” Hose 
Hanger

Diverter
Bracket

Diverter

Leg A
(for Diverter 

Bracket)

Ensure the 6” HOSE 
is supported by the 

HOSE HANGER

Get more in-depth instructions and manuals at www.Shearline.com

Ensure the CYLCONE 
OPENING is aligned with 

DIVERTER BRACKET (Leg A)

DIVERTER OPENING 
faces out

Do not 
overtighten!


